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SN 288
H: QIRAZAH(ZES)
Sl RIRZA Y PR AW CEEEED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
01 AFR2 22l Yl 24,490 23,152 1,338
FOIXXIME 2Et=E2H|
1,035,000 * 4& 7| 4,140
OFoUXNXRIAZ S =< 11,760
-&J]3 30,000& = 28Y * 12& 10,080
-2 Al 3 30,000 » 28Y * 23| 1,680
OBYdNE= AIESZ 2,500& * 300 ~ 12& 90
OXEYHES X 8,500,000& 8,500
02 53294l 3,000 2,000 1,000
OFUNXHEH MEHea g2yl
3,000,000& 3,000
301 et X = 4,400 2,280 2,120
12 JIEtE &2 4,400 2,280 2,120
OXSLES 2d B3 2,000,000 2,000
OF0 XX XOHZEAH WE a2 2,400,000 2,400
405 XH&kE S| 3,700 0 3,700
01 JHAtY = ZF SHI 3,700 0 3,700
OFoUXNXAJAA EIIHS 2 3,700
~EAHE 600,000& = 24 1,200
—ZH A 300,000& * 1H 300
=] 500,000& = 1JH 500
-9 Xt 200,000& * 1H 200
-39 Hol=2 & oA 1,500,000& 1,500
ScletdEs X 265,870 190,270 75,600
301 dBEtEX = 265,870 190,270 75,600
0B ESH-0/& .-BtEEEEAZ 265,870 190,270 75,600
Ool&=¢ 252,720
-Jlgsg 300,000 * 54H * 128 194,400
-&0 2 300,000& * 54H * 23] 32,400
S EE- PN
20,000& » 54H * 23 » 12& 25,920
OBtagE AZ 50,0008 * 263% * 13 13,150
st X 9,580 9,580 0
301 et X = 9,580 9,580 0
04 Ar22HUHAL XA 9,580 9,580 0
OXsgddia 29| 9,580
-0FAl HI 3,000& * 4% = 1JHCH = 365 4,380
-29 2 thghy| 100,000 = 1JHCH » 12& 1,200
PN E= =N Nl 4,000,000 * 1JHCH 4,000
SSAE KA 22 272,474 416,343 AN 143,869




SN 288
Hu: oEA(22E)
el DIREA Y 24X X (el @2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
101 14 Hl 15,943 14,208 1,735
04 JIZHHZ22XREES 15,943 14,208 1,735
OF AL o2 15,943
=0 1,795,310& » 1H » 8& 14,363
-ALRIEE JI2RE S 14,362,480 * 11% 1,580
201 L2l 206,031 188,785 17,246
01 At 22l 30,016 24,620 5,396
OFA & =2 320,000& = 53] 1,600
OFAL 283 HA =22
500,000& = 201 = 23l 2,000
O&ED| etx el Hdls=2 4950008 * 128 5,940
OaZelbh Al =EHAs2
350,000& = 13l 350
O otxdze| >3 250,0008 * 128 3,000
OsZI| etdze Hd++2
180,000& * 123 2,160
OsZIl AAEZA =8 150,000 * 13| 150
OFEIILBI (=2 &8l) HIIHA
1,000,000 * 13l 1,000
O&F=o1 &2 40,0002 = 300 * 123 1,440
O&=J12xt 60,0003 = 2CH » 12& 1,440
OJt=2J18 321 s #¢ 5,000,000& 5,000
OFAM &4 dHio S
20,0003 = 80f » 12& 1,920
OAN&EH X2 2248 28 7¢
2,000,000& 2,000
Ooa ZIHFI Xt
56,000& = 304 » 12& 2,016
02 2324l 176,015 164,165 11,850
Os&22= & HA 106,190
-8 =Ees 5,000,000& = 12& 60,000
“WEdsSES 283 2,400,000& = 12& 28,800
-aEeldh okl MIIR3 40,0008 » 128 480
-HAS2E 28N HIIRS
60,0003 * 2JH 4 + 12& 1,440
-HladgsAlE 8IS
200,000& * B A » 123 12,000
-M3 Y FAXR S 125,000 * 123 1,500
—EINERES 300,000& = 23l 600
-CIHY AMEZ 40,0003 * 200 * 128 960
-gretzel At g2l sl 50,000& = 13l 50
-SEgSs AER 30,000& = 12& 360
O =l 3,600
LS 5,000& = 8AIZt = 90 3,600




2N 328
FH: UASA(SES)
Sl RIRZA Y PR AW (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OAEZHl |X2eltl 49,880
-2A SR XHl(4,078m ) 7,500,000 7,500
-0HI =2 R RREAY 100,000& =+ 7CH 700
-HAs2E |2l 270,000 * 55J4 & 14,850
-HIAZAE sR22]  544,0008 * 5J0 & 2,720
-HM&ZH |sX2el 375,000& = 12CH 4,500
-EHHEEE WFHI FA 22
500,000& = 1CH 500
-Hels =2l & RFY 200,000 * 2CH 400
-EAM AR Y 20 RX2
3,500,000& * 1002 3,500
“EA &OZ2E |2l 4,000,000& 4,000
-EAMN ZF s A2 9,000,000& 9,000
—AIAE WEei )] 2te| 85,000& = 260H 2,210
OEXOE HEAAE(D-DAS) DBR X 2=
1,650,000 * 4& 7| 6,600
OXt& o gyl 3,745
-A"s= 2,605,000& = 1CH 2,605
-BXUSE 1,000,000 * 1CH 1,000
A= 70,000& = 23l 140
OFEAL Rol3HIAIAE 500,000& = 12& 6,000
401 Al HIZ 2018 50,000 177,100 A 127,100
01 A& HI 50,000 177,100 A 127,100
OFAN F2 H=ZAH(492.17m) 45,000,000 45,000
OZd&xd & 5,000,000& 5,000
405 TtobH S| 500 36,250 A 35,750
01 AL EZFH S 500 36,250 A 35,750
OHesE #& 500,000& * 1CH 500
ANAMEEE2AM X 3,000 3,000 0
201 et 3,000 3,000 0
01 At 22l 3,000 3,000 0
OXNGASEEEAME 2 &S =<
20,000& = 259 « 63l 3,000
SHARZAGEI (2 ES) 260,988 243,123 17,865
L2AEAEFA 260,988 243,123 17,865
QldolZd ¥ A2 A 125,988 135,123 29,135
101 14 Hl 11,988 11,123 865
04 JIZHHZ2XREE S 11,988 11,123 865
OE2HEH ¥ M=HY URY 11,988
=0 72,0008 * 5% = 30 10,800




2N 328
M SHARDANAEA(22E)
Sl ARBAYE (B9 ®R)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
-MSIEY D1&arg 3 10,800,000 * 11% 1,188
401 Al B2 28I 114,000 114,000 0
01 A& HI 94,000 94,000 0
OE2H H=&HH 15,000, 000& 15,000
O&E2 S NERXExt| 50,000,000& 50,000
OAREAIE XNH S S&E&9H 5,000,000& 5,000
OMoll 2 == MAAES 24,000,000& 24,000
03 AIE 2 0HHI 20,000 20,000 0
Otz % st&adEdl EHldxt= 15,000,000 15,000
OMAZY FHYUZ 5,000,000& 5,000
Z2LIHAY 5,000 5,000 0
206 M= Hl 5,000 5,000 0
01 =8l 5,000 5,000 0
22348 MY 5,000,000& 5,000
FE O 0l &t 130,000 103,000 27,000
201 L2l 25,000 0 25,000
01 At 2t 2l 25,000 0 25,000
OS50 BAFXEG HASE 7Y
25,000,000& 25,000
206 M= Hl 15,000 30,000 A 15,000
01 = tl 15,000 30,000 A 15,000
OOtE0E =& AJHt3I| & teld3&axy
=N 15,000, 000& 15,000
401 Al& I 28I 90,000 73,000 17,000
01 A& HI 90,000 73,000 17,000
OOtECIE 2& Ao RI ¢ Cield2xY
=N 20,000,000& 20,000
f£362 02 W FXH(EAH) 4X
20,000,000& 20,000
02322 ¥ AYMI FUB L EE
= &X 20,000,000& 20,000
O=3=2e2 Z22= SSU AY 28 22l A
2 30,000,000& 30,000
HY2IHEU(SES) 182,568 170,782 11,786
=2dd(228) 182,568 170,782 11,786
Jl23Hl 182,568 170,782 11,786
201 Let24dH] 90,768 89,622 1,146
01 At 22/l 66,160 65,830 330
OgALL(=8tl) 14,400,000 14,400
O el 9,000,000& 9,000
O= &l 8,640,000 8,640




228
HEeEAY (32S)
2dd(328)
SA - ZE-B(EA) - NRAY - B S il &t o il
OSAMII & =S80 gz
400,000 * 2CH= 128 9,600
OHZEH A2 FH| 24,520
-Zd ZEH 8,800
- EY 440,000 * 2CH * 45 = 23| 7,040
cd 440,000 * 2CH = 23 1,760
-otIely 200,000& = 1304 = 33l 7,800
—-FAX 120,000& = 200 = 33l 720
-—SEALSI EYH
600,000& = 208 = 53] 6,000
-HE2&830 &2 1,200,000& 1,200
02 =224l 24,608 23,792
02223 ¢ HA(RER2Z) 20,600,000 20,600
OHZTEHH RAE= 4,008
-GS AFR 2121 1,300,000 = 32CH * 5% 2,080
-Telg 4,000,000& = 10CH = 2% 800
—-FAX 600,000& = 2CH = 2% 24
-—SALZII 46,0003 * 200 » 12& 1,104
202 Odl 67,500 67,500
02 M0 67,500 67,500
O HNH 225,000& = 259 » 12& 67,500
203 YR =& 11,800 11,800
01 J1228 Y= 6,600 6,600
o8& 550,000& = 12& 6,600
02 33t P 2= 1,000 1,000
OXJ A& & A H| 40,0003 = 254 1,000
04 SASALREAY] 4,200 4,200
ORAN2EIRFEHI 350,000& = 12& 4,200
405 THobH S| 12,500 1,860
01 AL EFH S 12,500 1,860
O23h 2 500,000& =« 1CH 500
OodANE 235 ¢ 12,000
-& 9 350,000& = 104 3,500
-Z0l4&l HIOIZ 85,000& = 1004 8,500




